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SECTION - A
i) General Awareness
1. Garampani sanctuary is located at 5 Which of the following is cold ocean
(A) Junagarh, Gujaral current ?
(B8) Diphu, Assam (A) Gulf Stream
(C) Kohima, Nagaland '
(B) Labrador .
(D) Gangtok, Sikkim AN
(©) Kuoshio A
™= L]
2. Which of the following is not a feature _ {E “? »
of Gandhara School of Art ? (D) None of Ve -
(A) It was patronised by Sakas and a /9 O
Kushans 6. iﬁmﬁ;ﬁ%en awarded the First

A ¢ Lifetimé Achievement Award for his/her

(B) Ithas Indian and Greek influence

k
b
b

L, =y " 3
% "&)ntributlon in the field of Cinema ?

(C) Itportrayed human figures exacti 9.4
: e AW (A) Ashok Kumar
(D) It resulted in the originatiofie

Hinayanism (B) Hou Hsio-hsein
| 3. Most popular Sufis were the (C) Akiro Burosova
:‘ (&) Rabia (D) Bemardo Burtolucc
| (8)" Halla)
(C) Ghazal 7. Which is the highest Gallantry Award
in India ?
(D) All of the above .

(A) Param Vishishtat Seva Medal
4. Guwahati High Court is the judicature of

(B) Param Vir Chakra

1 (A) Tripura
(B) _Arunacha] Pradesh () Kirti Chakra
(C) Assam
(D) All of the above (D) Vir Chakra
A*
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1
i) BTATT AT

. T AR HfeEe |

Fr=fafaa 4 | =5 a1 R s T
$1 faswar iR ?

(A) T8 i oY FHTTT gaw weewr
LI

(B) ¥8 W WG R A wora 8

(C) ¥EH WHE WKl 1 vt fasm
gae

5. §H € F1 &1 YA HHgE AR R 7

(A) TTE% EH

> >
(0) wh ﬂm#gﬁ_j‘; -' e

e 14

(C) 3T ST
(D) wATe s

7. T8 ¥ -9 IRA F FErea DL
EER 7

(A) T fafiree dar v .
(B) T it =
(C) Hifd =

(D) it=mw
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8. The journalist who refused to accepl 12. Which of the following countries is
‘Padma Bhushan' was ?

rich in oil ?
(A) Shekaran Nair
(A) Singapore
(8) Khushwant Singh
B) Thai
(C) Ratan Thiyam (B) Thailand
(D) Arun Shourie (C) Pakistan =

r‘* 'I\-}::
w’

D) Indo

9. The ionosphere includes (D) nasia fﬁq\

(A) Mesosphere
13 The ratio of m of our National Flag

B) Thermosphere -
: Quofst
(C) Thermosphere and exosphere A A;‘] e
: -.*‘ ""-t: : 35
(D) Thermosphere, exosphere anﬁ A
'1_
10. The leading state in pmdwmmpéf is (C) 24
(A) Bihar D) 34
(BpuWest Bengal
fcf Km 14. ‘Natya - Shastra' the main source of
[DT"%'nssa India’s classical dances was
written by
11. Who wrote the line: ‘ A thing of beauty
is a joy forever' ? (A) Nara Muni “
(A) John Keats (B) Bharat Muni
(B) Robert Browing
(C) Abhinav Gupt
(C) P.B. Shelley
(D) William Wordsworth (D) Tandu Muni
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8. U TAFR, e R T g o 12, T=fafaa 29 4 @ #@i oot ey |

B R e 7 it & 7
s e (A) R
(8) gy e

(C) T frm (B) 9urEte
(D) o 9

g. WEaHEAH ftonfiE? |
(A) wemEd (HEehE)
(B) o (3907) e (aniedi)

(C) @M (3I=7) HWEw (aHiehar) i
afgdes (Taaeher)

(D) @ (3wr) Hew, affee st Hees

10. FrMESIOEAd i . 4

(Ay fomm

(B) H. s Q*:f_ &,/ (D) 3:4

(©) ?wa '

(D) ¥ 14. 9WdE T 79 F g @ ARl

}'}"ﬁ e’ & e g1

11. a‘f@a;ﬁ%?ﬁqmmm A R

(A) ST HE B) wwanh i

(B) Tadwmafam

(c) . ft. ih (yosrR T

(D) fafermaduad (D) wgHM

A* -
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15, Mahmud Gawan was Prime Ministerin | 49  1he ndian Air Force celebrated its

Golden Jubilee in
(A) Gujarat Kingdom

(A) 1962

(B) Kingdom of Kashmir
(B) 1972

(C) Bahamani Kingdom i
(C) 1982

(D) Kingdom of Mysore

16. Mansabdari system was introduced by
decide an election

" e O
g v

(A) Akbar

Parliament

(B) Jahangir

(C) Sher Shah (B) Supreme Court

(D) Balban ) 4 :-'*' (C) High Courts

- Q, (D) Election Commission

> 5] ~aker of the state legislative
bly. decides to resign, he 20. Who among the following included his

'submit his resignation to the rival in his cabinet ?

17.

}'{i\] Govemor (A) Henry Kissinger
(B) Chief Minister (B) Shevardnaze
(C) Judge of the High Court (C) Margaret Thatcher

(D) Robert Mugabe

(D) President




16.

17.

A*
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18. WRAR amgEn 3 gre =i
S TR |

(A) 1962

(B) 1972

(C) 1982

(D) 1992

(C) T==g—=Harg

(D) T 3R

. o 9 o o witegedt # aow A
yftee d st e 7

(A) Bt Terfe
(B) W=
(C) WTiLz 9=

(D) Ty
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ii) General Intelligence and Reasoning Ability

"‘iit"iil.l'b O
) I"‘ -I-F'l* ‘*

.
[ 1"&11:‘
f

21. Look at this series: 201, 202, 204, 26. Tanya is older than Eric.

E'L;:g 207, ... What number should come Cliff is older than Tanya.
. next ? Eric is older than CIiff.
(A) 205 (B) 208 If the first two statements are true,
the third state ti
(C) 210 ) 211 R EPIE oS ,
(A) True B
P h\
Direction for Question 22 & 23 : (|8) o _\‘
Find the word that a necessary part of the (C) Uncertain ?
. >
underlined word. (D) None of the@boﬁ i
22. ovation *\‘ f? -
|, -
(A) outburst (B) bravo 2?. Stutqmeﬁ 40 order to bring
(C) applause (D) encore prﬁg’hﬁ.lj in our office, we must
4 4 Hmenveyame allowance to our
: !‘ emiployees.” — In charge of a company
. Ak 1'% “talls Personnel Manager.
{A} ral'ity y, -:_;:E?h,t\t'l_‘:__:.l...-
(B) artifact e \/:’ _.;‘."’1:-’ Assumptions :
(C) aged .“" I) Conveyance allowance will not

(D) prehistoric | help in bringing punctuality.

) Discipline and reward should

24. Figi¥Fiabby : *Piquant : ? ANRYS.90 At FLFIE,
ﬁ -Ll.-; . (A) Only assumption | is implicit
( m (B) Only assumption Il is implicit
(G) Pleasant (C) Either | or Il is implicit
(D) Small (D) Bothland |l are impligcit‘
25. Naphthalene : Woolen : : Antibiotic : ? 28. SCD, TEF, UGH, __, WKL
(A) Germs (A) CMN
(B) Immunity (B) UJI
(C) Diseases (C) VI
(D) Body (D) WT

A* 10
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ii) T gigm Ay Al argdt

21, 39 FHI% H 2@: 201, 202, 204, %6, WU EIAEE R | A a

207, ... e v FrefafEga g g =n WHTLE | tFE FarasndEeiR |

|t gt ? S YEST! ST gaeg |El § a1 died

(A) 205 (B) 208 weer - . k)

(C) 210 (D) 211 (A) &

(B) TIEd p
22 31 23 HEgTaTe wyAl & fere o . ©) =R ;ii-*:é'é'a
Freferfiaa we2t 1 7w yee A, S @itea : H
782 1 U TeE R | (D) ’S‘fﬁﬁﬁ%*ﬁf *«;
i ‘Mj

55 27. WA aﬁamawﬁm?ﬁm

LAYy ) e R 3w d

9% FEFRNAAL |
' ll) SFFIEE SR TR g A 6
|14 =1 AR |
(A) e HEEH | HaHRa R |
(B) Fae @HHH |l siaffEa 2
(C) anal = e safifEad
24, (D) |31 1 SAafAREa ? |
28. SCD, TEF, UGH, ____, WKL
(A) CMN
25. (B) UJ
() VI
(D) WT

Ax -11-
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29. CMM,EOO,GQQ, ,KUU
(A) GRR (B) GSS
(C) 1SS (D) ITT

30. P:OR,P,QS,P,.QT, _____ P,QV
(A) PQW (B) PQV,
(C) P,QU (D) PQuU

Directions to solve Question No. 31:
Each question presents a situation and asks
you lto make a judgment regarding that
particular circumstance. Choose an answer
based on given information.

31.

the description that appears ind
original screenplay. He is.not™
to consider actresses ;.'Jﬂb .-. ot
resemble the ni'larww aﬁ*ahe is
described in the £ /, no matter
how talentedthey aresThe screenplay

aseiibes Lucy as an average-sized,

Y SOF thlng redhead wﬂh deep

. four actrasses in mind,

Actress #1 is a stunning red-haired beauty
who is 5§ 8" and in her
mid-twenties. Her eyes are
brown and she has an olive

complexion.
Actress #2 has red hair, big brown eyes, and

a fair complexion. She is in her
mid-forties and is &' 5.

A*x

The film director wants an actress fof
the lead role of Lucy who perfﬂﬂﬂ}f

JDD-39/TGT-ENG/X-14

Actress #3 is 5 4" and of medium build. She
has red hair, brown eyes, and is in
her early forties.

Actress #4 is a blue-eyed redhead in her early
thirties. She's of very slight build
and stands at 5'.

2,3

(A)
(B)
(C)
(O)
32. Hetg

" pixngorbl means ceiling fan

arthtus! means tile roof

Which word could mean “ceiling tile” ?
(A) Gorbltusl

(B) Flurgorbl

(C) Arthflur

(D) Pixnarth

Here are some words transtated from
an artificial language.

agnoscrenia means poisonous spider
delanocrenia means poisonous snake
agnosdeery means brown spider
Which word could mean “bfack widow
spider” ?

(A) Deeryclostagnos
(B) Agnosdelano
(C) Agnosvitriblunin
(D)  Trymuttiagnos

-12-
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29. CMM, EOO, GQQ. ,KUU
(A) GRR (B) GSS
(C) 1SS D) ITT

30. PLQR,P,QS, P,QT, P,QV
(A) PQW (B) PQV,
© P,QU () PQU

Y HEAT 31 & wAraa & fovo R

e e # v fEufa & w2 ) oRfEfy
forgty w feamam s gw 3ma sy Fofa 2 ) 4
el SRR % STl 1Y Y1 I A |

31. Tﬁﬁ?ﬂﬁ'&ﬂﬁﬁ@ﬁmgﬁiﬁﬁﬂ%
for e Ut arfersht =meen @ <1 e ves

et ot st e |
ﬁﬁqwaﬁa%ﬁmﬁi%qﬁ
ﬂﬁﬁﬂﬁmﬁﬁ‘nﬁmﬁqm |

mmgm:awﬁ%mﬁn@ﬁﬁm
Fam st s )
srfersft 41 one ancTiaTe dee gEgEa €,
forehit e 5’9" 3t a® 20-30
e 1 R | I o o7 T SR
10T S R |
st #2 1At oe, 919 il o SN
-l 8 | 39 wer =veftg i 3l
36! waTs 55" 2 |
A*

P, _""if‘ b’ tle" % fore #1133 B 7
¥ fu nu e w Rega e @0 9@ |7
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AT #3 Tl Fewel 9 5'4 I8 | IEE
161 91, 371 St o arefia 8
F0 Afw R |

srfvrslt #4 191 ST ST oTe aTeETe o F

%% 31 30 1§ | FEw! @ Tga

& gEef-vee R A 5' R |

1,2

2,3

1,4

2,4

(A)
(8)
(C)
(D)

e faw e yreei S A A |
(A) Gorbitusl

(B) Flurgorbl

(C) Arthflur

(D) Pixnarth

33, FHfam wiNT ¥ e 9w He e fiy
MEE |
agnoscrenia %1 314 8 faien gz
delanocrenia %1 14 g fad=n am
agnosdeery 1 9aea & ff gagl M
“black widow spider” % feu fi=t fon
T ¥TeR1 B § I W1 IE & G 8 ¢
(A) Deeryclostagnos
(B) Agnosdelano
(C) Agnosvitriblunin
(D) Trymuttiagnos

-13-




34. Here are some words translated
from an artificial language,
hapllesh means cloudburst
srenchoch means pinball
resbosrench means ninepin
Which word could mean “cloud

nine” 7
(A) Leshsrench (B) Ochhapl
(C) Haploch (D) Hapliresbo

Read the below passage carefully and answer
the questions :

Five cities all got more rain than usual this year.
The five cities are : Last Stand, Mile City, New
Town, Olliopolis and Polberg. The cities are
located in five different areas of the coun

the mountains, the forest, the coast, the dese

65 rnches =

* The city in the desertgot ffie iéast rain ; the
city in the forest.got the most rain.

" New Town is in ‘li‘_lﬂ mnuntams

: w'.

* Ofliopolis got 44 inches of rain.

*The city in the mountains got 32 inches of
rain; the city on the coast got 27 inches of rain.
35. Which city got the most rain ?

(A) Last Stand (B) Mile City
(C) New Town (D) Polberg

-14-
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36. How much rain did Mile City get 7
(A) 12 inches (B) 27 inches
(C) 32 inches (D) 65 inches

37. Which city is in the desert ?
(A) Last Stand
(B) Mile City
(C)
(D)

39. Look at this series: F2, __, D8, C16,
B32, ... What number should fill the
blank ?

(A) A18

(B) G4

(C) E4

(D) ES3

Look at this series : V, VIll, XI, X1V,

XX, ... What number should fill the
blank 7

(A) IX
(B) XXl
(C) XV

.

(D) XV
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34. ;&nwﬁmﬁauﬁgﬁsmﬁq 36, wgel fad # feeft At g 7

AMER | " (A) 127§ (B) 27%4
hapllesh %1 T S1Ee BT 8, . .
srenchoch @1 14 T =it & 3N (C) 324 (D) 85%H
resbosrench 314 1§ TiA &1 “cloud
nine” 3 feru = w1 w1ea I BN 7 P a«’ﬁmmﬁ‘tﬁgﬁmﬁ%?
(A) Leshsrench (8) Ochhapl (ol
(C) Haploch (D) Haplresbo (8) e R
(C) == -
gﬁ ﬁtl_;‘m{ Sede I S 78 S (©) st N\
aig v, s A g A wEw | 38 aﬁ%ﬁ@ﬁﬂmﬁa§? 4
a?ﬁﬁmﬁ‘ﬂgi !hﬂﬁﬂ(%ﬁﬁl‘?é’g,m (A) qETE W !4‘% - :T-:-__.___-,-:-:
&, g 21, iferidiferd qferent | A 4
i et 3 s R S R €, A '3 "’Wﬁ"‘%
el WA A S, FEAFA WA | o gﬁﬁ“.ﬁ'
threm # 3 v g §)| s Hi A _'~f._‘-~._'-,_ﬁm;rﬁﬁm=!ﬁ
1o, 2768, e w, mgaaes | | N
<Y wEH w0 i g TS e 9. ¥ e # =E § 2@ F2, _, D8,
# ward) sferes anfea g, n & 16, B32, ... 3Tl dem F ert 7
AR H R | | (A) A16
-mﬁﬁmﬂ@mﬁm (B) G4
TGS L () E4
’ Hﬁaﬁé‘lﬁ%ﬁ‘cﬁwﬁ sferss =i (D) E3
* girferifena 1 44 9 TR gd | 40, F9 HEN R SH W @ : V, VIl X,
'mﬁaﬁ?@ﬁﬂﬁﬁ mmﬁ Xlu.dﬂ.mm#m@ﬁ?
e i 27 S SR ES | A) IX
(B) XXl
a5, e e wed T AT g8 7
(A) TR @) e R @), %¥
(C) =z (D) Ot (D) XVl

A* 15
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iii) Arithmetical and Numerical Ability

The length of the bridge, which a train
130 metres long and travelling at
45 km / hr can cross in 30 seconds, is

(A) 200m
(B) 225m
(C) 245m
(D) 250m

Two trains running in opposite
directions cross a man standing on
the platform in 27 seconds and
17 seconds respectively and they
cross each other in 23 seconds. The
ratio of their speeds is

(A) 1:8
B8) 3:2
(C) 3:4
(D) None of the above

What is the length afm rain
crossing another 180imetretong train
running in trﬁ apﬁﬁﬁ@"‘ direction?

I Thﬁerﬂaﬂhéapeed of the two trains
was 150 kmph.

i : The trams took 9 seconds to cross
 Pach other.

| alone sufficient while |l alone not
sufficient to answer

(B) Il alone sufficient while | alone not
sufficient to answer

(C) Either | or |l alone sufficient to
answer

(D) Both | and Il are necessary to
answer

-16

44, A cando aworkin 15 days and B in
20 days. If they work on it together for
4 days, then the fraction of the work

that is left is
(A) 1/4 (B) 1/10
(C) 7/15 (D) 8/15

45. Inacertain store, the profit is 320% of

the cost. If the cost increases by 25%
but the selling price remaifis. constant,
approximately what pérgeritage
selling pnce IS the'pr

(A) 30%
®) 7 e

% lﬁa&m

Present ages of Sameer and Anand
are in the ratio of 5 : 4 respectively.
Three years hence, the ratio of their
ages will become 11 : 9 respectively.
What is Anand's present age in
years?

(A) 24
(B) 27
(C) 40
(D) Cannot be determined

47. A grocer has a sale of Rs. 6,435,
Rs. 6,927, Rs. 6,855, Rs. 7,230 and
Rs. 6.562 for 5 consecutive months. -
How much sale must hé have in the
sixth month so that he gets an
average sale of Rs. 6,5007

(A) Rs. 4,991 (B) Rs.5,991
(C) Rs. 6,001 (D) Rs. 6,991
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iii) steRTrioTd T vd deEaTenes arEar

U 130 Hiex &t 39 45 Frofh. w2
THEIR Y 5T g1 30 #ebhs § us for 1
R =l B, 3 forst o Sard et 7

(A) 200 "zt
(B) 225 tim
(C) 245 Hiex
(D) 250 Hiex

fagdia faan @ ded 9 39 S w
e =afFq %1 Fu9; 27 ¥HE AKX
17 @ § Ui sl &, 3 F] 39w
UL I 23 U T GR AT 2. T 2
=1 fa 1 s3gaTa w=TE ?
(A) 1:3
(B 3:2
(C) 3:4

(D) %74 & =+ré i

180 thex e 3 ot R S |

e
RO

lﬁﬁﬁmﬁ%m

,maaasmmm% S

=i || s Tt AR |

I A & fow || ke v B, s
| SFe pTa e 8 |

I A F A a vafa g afea
WA F e et esh g |

(B)

(C)
(D)

A7

44, UF FW W FE H AF 15 T wmawm
T 8 SR B 1 20 foF w1, 3w 2
uF 1 et s oA & A1 4 A amm
AR | S S 9= 5w s
BEER |
(A) 1/4
(C) 7/15

(B) 1/10
(D) 3315
el w gm # JrE = 820%E
2 | R AP H 25% H CIER & ¥

(D) 250%

(A) 30%
(©) 100%

3:-:1 3T HATT
W54 | Syt et et i 39 3m
TAHA: 11:98 | A a5

(A) 24

(B) 27

(C) 40

(D) Truffa =€ fra snawa

Ue TR ST 9T UEA 6,435 %,
6,927 %., 6,855 %., 7230%. 31 6,562 %.
I fosfit FeaT @ | 92 e 38 T e
TSR BT, T 35! ferh @ afem
6,500%. B |

(A) 49917,
(B) 5,991%.
(C) 6,001 .
(D) 6,991 %.

47.

-
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48. The greatest number of four digits 52. A vesselis filled with liquid, 3 parts of
which is divisible by 15, 25, 40 and which are water and 5 parts syrup.
75is How much of the mixture must be
(A) 9000 drawn off and replaced with water so

that the mixture may be half water and
(B) 9400 half syrup?
(C) 9600 (A) 1/3
(D) 9800 (B) 1/4 .
© s

49. The product of two numbers is 4107. ©) W7 = ?3’
If the H.C.F. of these numbers is 37, _""ﬁ\
then the greater number is W ) 2
(A) 101 53. A train can tr Mter than a

car. Both start ntﬁ.aﬂh.e same
(B) 107 hm:mw int B 75 kms away
c 111 me time. On the way,
© 4 a&ﬁhe train lost about 12.5
(D) 185 \ ml?ﬂﬂes while stopping at the
f \.\"ﬂﬁmns The speed of the car is
50. Thecube rootof 0002164 4 F[@” (A) 100kmeh
e ® 4 (B) 110 kmph
i @ (C) 120 kmph
(B) .06 &7 4 (D) 130 kmph
(C) 77 '
(D) 8Z .
# 54. Mr. Thomas invested an amount of
¥ Rs.13,900 divided in two different

51. Running atthe same constant rate, schemes A and B at the simple
6 identieal machines can produce a interest rate of 14% p.a. and 11% p.a.
'lntalﬂf 270 bottles per minute. At this respectively. If the total amount of
rate, how many bottles could 10 such simple interest earned in 2 years be
machines produce in 4 minutes? Rs. 3,508, what was the amount

i i ?
(A) 648 mvest:ci ;1 fﬂ?&me B~
A 5« g |
(B) 1800 (A) 1
(B) Rs. 6,500
() &t0 (C) Rs.7.200 l|
(D) 10800 (D) Rs. 7,500 |



49,

50.

I Sehfarelt Fed A dEm - R
St 15, 25, 403 758 =g & |
(A) 9000

(B) 9400

(C) 9600

(D) 9800

2 gEEHl # IAEA 4107 & | FH
3 Wl H ITEOH AW PHEE
7ify v, . UF. 37 8 @ Had A
g AR ?

(A) 101

(B) 107

(C) 111

(D) 185

i s
ﬁ%\ 3

d
AT 000216 1 TS FT B { [
(A) &
(B) .06

(C) 77

51,

ST 0 E RN E B nei ufd i

070 A war & 1t A 10 wEe

A*

gal 1 wan & 4 fime | fraan daw
WA gFaTe 7

(A) 648
(B) 1800
(C) 2700
(D) 10800

19
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52. U wAA § aet w1 S €, Foree i

ot gt 3f g w e @ | e
fagm = v 8 e 3ey Reaar ot
fremar s, aif s grh S s
g gt s ?

(A) 1/3
(B) 1/4
(©) 1/5
D) 1/7

100 .. /=21
(8) 110fFaf, faa
(C) 120f%.H. fa=1
(D) 130f®w.H. [¥er

54, . ofeg13,000%. FraT= e Sy g

iz 1 A 31 B AT F 21 T §
14% 3 11% wiaead & @ =919
% fav wa € | 3R @ e H ges
s4Tet 30 R F R e Uik 3,508 %
R 41 B =fim o 3= e Faw e 7

(A) 6,4007%,
(B) 6,500 %.
(C) 7.200%.
(D) 7,500%.




i

55. A rectangular park 60 m long and
40 m wide has two concrete
crossroads running in the middle of
the park and rest of the park has been
used as a lawn. If the area of the lawn
is 2,109 sq. m, then what is the width
of the road?

(A) 281m

(B) 8m

(C) 582m

(D) None of these

56. Whal decimal of an hour is a second ?
(A) .0025
(B) .0256
(C) .00027
(D) .000126

57. A tank is fifled by‘tHiree pipes with
uniford flow, The first two pipes
Weperating simultaneously fill the tank
nthe same time during which the tank
filled by the third pipe alone. The
~second pipe fills the tank 5 hours
~ faster than the first pipe and 4 hours
slower than the third pipe. The time
required by the first pipe is

(A) 6 hours

(B) 10 hours
(C) 15 hours
(D) 30 hours

58.

59.

60.
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If one-third of one-fourth of a number is
15, then three-tenth of that number is

(A) 35
(B) 36
(C) 45

(D) 54

‘ B) 5/2

(c 3
(D) 4

A man purchased a cow for Rs. 3,000
and sold it the same day for Rs. 3,600,
allowing the buyer a credit of 2 years.
If the rate of interest be 10% per
annum, then the man has a gain of
(A) 0% =
(B) 5%

(C) 7.5%

(D) 10%
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55. W 60 dizr d&n 37 40 iz di= 58. AT UF-0ETs & Uh-d9Ts S HE

R 95 & i 2 e # 15 2 a1 d -z f gen
w2 sk Fadf REnat? |

I TRE & 2,109 =it e o 2 A (A) 35

Hew it e e R B) 36

(A) 2914 — .
(B) 3wt

D) 54
(C) 5.82 Hiz e
(D) T @ i .

56. T We H € H1 aNHe FE ?

(A) .0025
(B) .0256
(C) .00027
(D) .000126 v
Ve ) ) ¥ (D) 4
57. mm*&wﬁq% mﬁ’éﬁ
smm%l ma;ﬁ;;ﬁai 60. e AT 3,000 %, § e TR @ 2
| _-p bbby Siv 38 e T iR =) 2 W
oty e e 5 e A 3 W 3,600 & F 99 I R | W
\ SHE AR, e e I ot e ufed a9 2 10% 2 @1 39 =afw 3
' izqaﬂrﬁﬁrﬂrﬁmzéqmﬁﬁmm Teere emy swmn ?
u SR ? =
. (A) 0%
(A) 6%z
. (B) 5%
(8) 104z
©) 15 ¥z (C) 7.5%
(D) 307%a ) 10

A* 21-
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iv) Test of Language : Hindi

I vy wifteror : et
l 61 ‘GifEdaY-rerEe s RwEEE | es, SA e R w1
yree g fofEn | (A) TE
A
®) feamn
(C) |
(C)
(D) g

(D) ot =1 @S T A1
67. ‘ma e
| (A) &h
] (B) Twl
(C) el
L "‘. D
T S o
el e isiicud! &
T% o 68, A YRR & waigaT 2
(A) FIFHI (A)
(B) i 8
(C) sz (€) FATR
| (D) STIHIIE (D) ded
1 A 2
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69. ‘v w1 faEm R v . ww 73-74 9% v Aty =g geafie | H

Al 8
Vo-an 73. (A) STE. A9 I Y

(B) @ (B) SPH. 1Y I F=H
(C) foem (C) AT 14 T ST
(D) fafm (D) SEA. AAATE

70. ‘=€l uwliag wE 1 Hd @ L N\
e 74. (A) fam. zta s fegia

(A) a2 g . ﬁ%aﬁaﬁmﬁ d
(B) e dAfodd a1 (C)@h ﬂ;ﬁ

(C) SHRIEM & 4 l‘@ﬂ-&aaﬂqaﬁm

() T s Sl

>\ fﬁ%:m&maﬁmmn—aﬁsmi |

ﬂiw:mn—?zammﬁwﬁﬁ* B WY1 £ Sfia 91 R 1@ HaR,

71. (A) T | i, vda, &, ¥ @ vl 2 www |
(8) 26 A, FIHA GH T A,
"~ ) 18 7 oI g 2 3w e,
O)F ¥ 70 W ) Sfiaa 370 ey @ §ER,
72. (A) T g2 Fam, 99, STl b
=T 3N W Bl
(B) F™ :
T 5 5 367 g 8 gl # IuEn,
SRS U1 W0 1 ST 370 T @ WA,
i _— fferer & firere & e,

A* 23



wafaroet g = € o @ He R

B o A S 379 EE 8 HHR

5 ‘g S Y 2
(A) T i@ o s
@) RO
(©) e g
(0) gferdi ot frt

76. @i E S SE o 3 €

(A) FETan
(B) EQWUSIEA

ATt g
(D) = Zifew

Ax N
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78. a3 ae v A amE &
(A) SErwmR
(B) o wegr i A ot i
(©) T g i, Afee, ek i

Fea aeal &

.

gt w Pl R
(B) Taw R ¥ fore Rl
SEEEA A
() =ufa o e Haw & W B
(D) waT e st & i g

80. ¥ & i R
(A) &= .
(B) 3HEHH
(C) wEd
(D) e 3w 7 Ay e
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v) Test of Language : English

TS GH T ; S

Directions for Questions No. 81 - 82 :

Read the each sentence to find out whether
there is any grammatical error in it. The error, if
any will be in one part of the sentence. The
letter of that part is the answer. If there is no
error, the answer is 'D'". (lgnore the errors of
punctuation, if any.)

We discussed about the
problem so thoroughly.

81. (A)
(B) Onthe eve of the examination.,

(C) That | found it very easy to work it

out.

(D) Noerror.

82. (A)
(B)
(C)

(D)

An Indian ship
Laden with merchandise g
Got drowned in the Pa% Yeean
Noerror. ﬁ )

{c;} o Posstbmty
(D) Occasion

84. Success in this examination depends
hard work alone.

(A) at
(C) for

(B) over
(D) on

Ax

pr

Directions for Question No. 85:

In each question below, there is a sentence
of which some parts have been jumbled up.
Rearrange these parts which are labelled
P. Q. R and S to produce the correct
sentence. Choose the proper seguence

85. When he p
P : did not know .

Q: he was nervous and@|

R : heard the hue and'éry af
S:whattod
The proper s ce should be .
) (B) QSPR
R (D) PORS

86, “Name the kind of tense used in the
~ below given sentence

“We are going to railway station”
(A) Past

(B) Present continuous

(C) Pastrarest

(D) Present perfect continuous
87. Superlative degree of comparison of

‘good’ is

(A) Goodness (B) Clever

(C) Boldest (D) Best
88. DIVA: OPERA x

(A) Producer: theatre
(B) Director:drama
(C) Conductor : bus
(D) Thespian : play
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89. EMBEZZLE

Directions for Questions 90 - 91:
(Active/Passive voice)

90. After driving professor Kumar to the

&1 Tremember my sister taking me to the
L i 35 I. l‘-.ag um.

(A) Misappropriate
(B) Balance

(C) Remunerate
(D) Clear

museum she dropped him at his hotel.

(A) After being driven to the museum,
Professor Kumar was dropped at
his hotel.

(B)  Professor Kumar was bm’mdnwfrr be spent in writing a postcard, another

A
T

dropped at his hotel, %
(C) After she had driven Rrofessor
Kumar to the mugéum, she had
dropped him at his hotel.
(D) After she'was driven Professor

Kumar to the /museum she had
dropped him at his hotel.

“A) 1 remember | was taken to the
museum by my sister.

(B) | remember being taken to the
museum by my sister,

(C) | remember myself being taken to
the museum by my sister.

(D) | remember taken to the museum
by my sister.

JDD-39/TGT-ENG/X

92. Extreme old age when a ma
behaves like a fool

(A) Imbecility
(B) Senility
(C) Dotage

(D) Superannuation,
o WA
Passage 1: Work expands’so as to fill the
time availablg™fai,its"completion. The
general ra;mgngg of this fact is shown.in
the pmv;ﬁ_;li_al_phiaser ‘Itis the busiest man
who has timé to spare’. Thus, an elderly

Jady at Yeisure can spend the entire day

WAIting a postcard to her niece, An hour will

hunting for spectacles. half an hour to
search for the address, an hour and a
Quarter in composition and twenty minutes
in deciding whether or not to take an
umbrella when going to the pillar box in the
street. The total effort that could occupy a
busy man for three minutes, all told may in
this fashion leave another person completely
exhausted after a day of doubt, anxiety and
toil,

83. What happens when the time to be
Spent on some work increases ?

(A) The work is done smoothly.

(B) The work is done leisurely.

(C) Work consumes all the time.

(D) The work needs additional time.



94. Explain the sentence : ‘work expands

so as to fill the time available for its
completion’.

(A) The more work there is to be done,
the more time needed.

(B) Whatever time is available for a
given amount of work, all of it will
be used.

(C) If you have more time you can do
some work.

(D) If you have some important work
to do, you should always have
some.

95. What is the total time spent by the
elderly lady in writing a postcard ?

(A) three minutes

(B) four hours and five minutes

(C) half day =

(D) the entire day .I .
Passage 2 : The surprisingly ﬁﬁmm life
of the Indian Ocean is confined to'the upper

layers ; the deeper ard especially the
alefs are devoid of oxygen and are

(A) The life of the people near the
Indian Ocean.

(B) The reason why life exists in
particular water layers.

(C) The reason why oxygen is found
in the bottom layers.

(D) The reason why hydrogen
sulphide is found in the bottom
layers.

JDD-39/TGT-ENG/X-14

97. The bottom waters of the Indian
Ocean

(A) Have no oxygen.
(B) Have large amounts of oxygen.
(C) Have no hydrogen sulphide.

(D) Contain oxygen and hydrogen
sulphide.

88. The waters of the Indian ©
(A) Are devoid of i€

Vhich of the following is the most
. opposite of the word ABUNDANT, as
used in the passage 7

(A) Plentiful
(B) Minute

(C) Insufficient
(D) Tiny

100. The sentence suggests which one of
the following :

(A) Observers are surprised at how
little life exists in the Indian Ocean.

(B) Hydrogen sulphide is necessary to
life,

(C) Both oxygen and hydrogen
sulphide are necessary to life.

(D) Oxygenis not necessary for marine
life.

A* 27-
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101.

102.

103.
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SECTION - B
Post Specific Subject-Related Questions

Diagrams can be used effectively to
test which one of the following skills ?

(A) Application
(B) Speaking
(C) Listening
(D) Watching
Education, according to John Dewey,
is

(A) a professional need

(B) a family need

a psychological need., Y.
AH l!';r-

(C)

(D) a social needs=

sellor must have all

wing characteristics EXCEPT

’ :-.gf"glenuine rapport with counseles
perpetual sensitivity
identical personal traits as the

clients

personal security

104. Effective classroom management is

when there is
(A) Creation of leaming environment
(B) Reduction of student
misbehaviour

Creation of an orderly environment

Detection of inappropriate _
behaviour i

(C)
(D)

2es, but

105. The words a leamer
does not use i peech or
writing are call
{ Progu h.vocabulary
vocabulary

([[906. Al the following are valuable pieces

advice to a language teacher
designing oral activities for his/her
students, EXCEPT

(A) If the subject matter of the listening
passage is related to the learner's
needs, the teacher need not worry
about the type of delivery of the
passage
A thorough rehearsal of the script
should be done before delivaring
the material for listening activity

The teacher should identify the

(B)

(C)

learner's need for the kind of

listening skill to be focussed
(D) Both (A) and (C)



107. The main objective of teaching is
(A) toimpart information to students

(B) to ready students for examinations

(C) to bring about socially desirable
behavioural changes in students

(D) to give a thorough knowledge of
the syllabus

108. Identify the practice which cannot be

called 'a faulty reading habit’
(A) regression

(B) silent reading

(C) finger pointing

(D) subvocalization

109. While framing a question paper, a L
teacher has to ensure in it, lh%&"“n'
absence of {Tuf
(A) subjectivity
(B) nouse of vagug-vgqrd&

(C) rehabilﬂy
(D) abjectivity
g '-"-. I '!'
110. Ifachi aks unusually loudly, the

teacher should understand that the
child may have

(A) difficulty in speech

(B) hearing impairment

(C) arrogance

(D) repairable voice disorder

A*
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111. Who among the following is a
psychologist who has contributed
immensely to the study of
differences across stages of human

development before adulthcod ?
(A) Jean Piaget

(B) Carl Jung

(C) Holland .
(D) Sigmund Freud

?. ‘.\

AN
-->-:-

;j’\ 9
{I" ::u

.-4 =

112. Microteaching am%af #,

(A) dwelnptng‘@%ﬁng skills in

PRC @
4 | &%ing students’ ability
) |
f’ﬁ ng hieving partial command of the
,_.,3; subject

;:H

b (D) developing feedback skills of

students

113. One of the functions of NCTE is

(A) to prescribe syllabus for
secondary education

(B) to promote coordinated
development of teacher
education -

(C) to conduct surveys relating to
education

(D) to improve the quality of planning

in education

e




i

114.

115,

A*

As part of reinforcement, a teacher
can utter “Wah!”, “humm”, “aha!” etc.
This is usually categorized as

(A) Positive Verbal Reinforcement

skill

Negative Nen-Verbal Reinforcement
skill

Extra Verbal Cues

(8

(C)

(D) Negative Verbal Reinforcement

skill

A good teacher is one who

lives an altruistic life e

4

(A)
(B)

(C) has an impressive acadgimi o

record ,rf:': b
(D) has gan}fjﬁé}iwt in his

studgfts |

8Ks do you use to think up a suitable
‘tittle for reading passages ?

(A) Reading for detail

(B) Skimming

(C) Scanning

(D) Understanding

L& "

has command of the subject ‘ >

118.

119.

JDD-39/TGT-ENG/X-14

The material or passage used to test
the leamer's listening skill must be

(A) modelled on heard speech
(B) densely structured
formal in style L

(C)
(D)

Is a one-way lecture by the teacher
Does not tell the students what
they themselves can find out in the
passage

Provides glimpse of all the
important points in the passage

(D)

Which of the following is a style of
Programmed Instruction developed
by Norman A. Crowder 7

-

(A)

(B) Branching style
(C) Framing style

Linear style

(D) Mathematics




120.

121.

122.

Ax

The most effective technique a teacher
may use in order to enable students
to attain ‘Affective Level Objective’ is
(A) Experimentation

(B) Discussion

(C) Lecturing

(D) Dramatisation

The Kothari Commission of

Education was set up in
(A) 1952
(B) 1986

(C) 1964

Ky,
5—,—‘ .‘-; i.:
6,
When dy the influence of
heredity on individual differences of

learners, we usually focus more on
(A) Social heredity

(B) Cultural heredity

(C) Institutional heredity

(D) Biological heredity

JDD-39/TGT-ENG/X-14

123, Curriculum can be designed and
organized through

(A) Context-centred approach
(B) Subject-centred approach
(C) Social-development approach
(D) Teacher-centred approach

124,

six types of individ
following is NOT %ff-_;
kind,of epvifenmeht ?

& T

o (A Realiftic
W

al
(O) Investigative
v (D) Enterprising

125. Which of the following combinations
has ONLY the criteria determining the
selection of presentation mode for the

content at hand ?

(A) Subject matter, evaluation, time
available

(B) Evaluation, instructional
objectives, subject matter  ~

(C) Content, teacher's qualification,
time available

(D) Instructional objectives, student’s
background, teacher's teaching
style

-31-
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126.

127.

(D) Goal direcfed behaviour

128.

A*

Awarding ‘grades’ in place of ‘marks’
is recommended as

(A) Grades have greater attraction for
learners

(B) Differentiation among students
based on marks will be removed

(C) Rote-learning is minimised

(D) Oral examinations can be
accommodated

Among the stages of cognitive
development, pre-operational stage.

is the level at which an indi\l’id“ﬁ‘."-}:

S W
i \ '_rT
=7

accomplishes
(A) Trial-error behaviour

" &

(B) Inferences

(C) Perceptual reasoning

National Talent Search
Examination is conducted by

(A). NCERT
(8) CBSE
(€) MHRD

(D) NIEPA

128.

A8
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Teaching-learning environment in
school will suffer if

(A) The autonomy of the learner is not
respecled

(B) The teacher innovates
incessantly

(C) There are regular Pa

meets A Q.
- : 4
(D) The tﬂﬂﬁ%ﬁld promptly

. 4

-

Adentiffthe process that is NOT

-, involved in comprehension

“(A) Interpretation

(B) Extrapolation
(C) Translation

(D) Perception

Fill in the blanks to complete the following
sentences by choosing the appropriate
word from among options given :

131.

Since many old shops have
across the street, the

earlier directory is

(A) come up ... out-dated

(B) started ... anachronic

(C) transferred ... redundant

(D) relocated ... obsolete



132. The internet is a medium where users
choices and

have nearly
constraints about where to
go, and what to do.

(A) unlimited ... maximum
(B) abundant ... minimal
(C) encouraging ... frustrating

(D) sufficient.... little

133. Besides extraordinary

skills, Raman had a
voice, which held his audience in
rapture.

(A) oratory ... sONOrous
(B) speaking ... coarse
(C) giftforthe gab ... gruff

(D) moralizing ... chirpy

e |
_ At -~
134. The plotiers me 50 as
to conspire - against the

opprmive rule of Julius Ceaser.
(A) secretively ... ban

(B) clandestinely ... revolt

(C) aggressively ... crime

(D) hiddenly ... mutinous

JDD-39/TGT-ENG/X-14

135. The daily accused the leader of
for making promises

he knew he could not

(A) impunity ... uphold

(B) double-faced .... keep

(C) deception ...

fuml "'*T?T;I v

(D) hypocrisy ..

W o
L w-h_._;t

“: :
|

Choose thﬂpmaﬂreposmnm from

amo@thWi@ fll in the blanks and
{'
cnnﬂéWntences

| 3. ﬁelatest reports received say power-
babu Paneek Chatterjee, at present

deputation in Washington
take over

D.C., is expected
as the Prime Minister's personal

secretary.

(A) upon;up
(B) inito

(C) on;to

(D) in;over

keep I.-:".-J:": ‘ 4

P —
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137.

138.

139.

A*

Now, a 50-paise coin is a
numismatic slice of the past
fond memories
the people who
experienced the anna-paise age.
(A) of;of
(B) with;in
(C) with; for
(D) along; for

There is a similar continuum
the optimism/
pessimism axis
psychoanalysts.

(A) in;in

(B) on;among
(C) on:in |
(D) in:betwgen .

@ i omists argue that
!alﬁunﬁﬁé free-market to operate

: interference is the
most efficient method of
establishing prices ________ all
cases,

(A) without ; in
(B) despite ; of
(C) with ; of
(D) with;in

140.
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Formerly, coal was considered the
only source of energy ; now,

the age of coal we
have moved the age
of electricity.
(A) outof;to
(8) from;into (N
(C) from;overto ) v

(D) outof;into

142,

14!}; ﬁi@'ﬁant study done in the state,
x T\:.»Ltf."'l

20 districts, revealed that
the Siddhis the poorest

community in the state.

(A) having covered ; were

(B) having covered ; had been
(C) covering ; were

(D) covering ; are

In contrast to the expansion and
development of business education
in the U.S., Japanese b-schools

no more thartwo
hundred MBA's each year.

(A) have been graduating
(B) graduating

(C) graduate
(D) would graduate




143.

144.

145,

The welfare of all people can be
increased only if we use available
human resources in the most efficient
way.

(A) could have been increased
(B) can be increased

(C) has to be increased

(D) must be increased

Conversely, if we the
luminosity of stars in other galaxies,
we their distance by
measuring thier apparent brightness.

(A) could know ; would have worked

out

(B) knew;couldworkout 9 L1147 (A) The moreabstract the question you

L

a. BV i
(C) know ;canworkout = .

(D) know ; could haye worked out
= VN Ut

aWtiens nf public good, which
society independent of
individual caprice.

(A) has been teaching , make
(B) has taught ; making

(C) has taught ; made

(D) will teach ; makes

JDD-39/TGT-ENG/X-14

Choose the sentence that conforms to
Standard English usage :

146. (A) Those who wish 1o see mankind
fruitful in the work which men alone
can do, will take a little account of
national boundaries.

fruitful in the work which men alone

TR
T,

national boundaries.

(C) Ones who wish to sée
fruitful in the workahichier
can do will take a litle

ask me, the hard it becomes for me
to get in touch with any feeling at all.

(B) The more abstract the question you
ask me, the harder it becomes for
me to get in touch with any feeling
at all.

(C) The mostabstract the question you
ask me, the hardest it becomes for
me to get in touch with any faating
at all.

(D) The abstract the question you ask
me, the harder it becomes for me to
get in touch with any feeling at all.

(B) Those who wish to see mankind

could do will take a little accouptof
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148.

148,

(A)

(B)

(C)

(D)

(A)

That in the end the great
development of the scientific
movement occured mainly in
Protestant countries is due to the
impotence of the natural
churches.

That ended the great development
of the scientific movement occured
mainly in Protestant countries is
due to the impotence of the natural
churches.

End of the great development of the
scientific movement occured
mainly due to the natural mpotence
of the churches.

The end of the great
development of the scientifices
movement occured mainly ﬂalé ﬁ
part the impotence of the y
churches.

Traditional Cﬁiggsa medicine is
believed te have less side effects

& 'mﬂ{s prafaned to chemical drugs.

(C)

(D)

{B},;Tr y
‘believed to have fewer side effects
and is preferred than chemical

nal Chinese medicine is

drugs.

Traditional Chinese medicine is
believed to have fewer side effects
and is preferred to chemical drugs.

Traditional Chinese medicine are
believed to have fewer side effects
and are preferred to chemical

drugs.
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150. (A) No visitor can miss the sight of the
imposing 10 feet tall idol of Lord
Shiva at the entrance.

(B) No visitor can miss the sight of the
imposing 10 foot tall tdoi of Lord

(©)

{D}'» M’@ars hardly miss the sight of the
“!‘mpusrng 10 feet tall idol of Lord
! Shiva at the entrance.

Read the following passage and answer
the questions given below it :

The World Bank has been pressing for the
removal of restrictions on Floor Space Index
(FSI) — or at least their considerable
relaxation — in the inner parts of Mumbai
and Bangalore. The thinking that leads to
this recommendation is based on a
mathematical model.

Called the monocentric-city model, this
assumes the city is inhabited by a number
of identical residents, each earning the
same income, and who all work in the
Central Business District (CBD). The
inhabitants commute from their residences
to the CBD on a dense radial road network,
paying a certain amount per round-trip mile
(including the cost of travel time). An implicit
assumption is that commuting is by car, not



by public transport that might lead to some
preferred travel routes, and not by walking
which incurs no explicit travel cost. Further,

each resident is assumed to be a renter,

paying a certain amount per square foot of
housing, and occupying a certain amount
of square feet of housing. The price
naturally falls with distance from the CBD,
and the housing area occupied increases.

The mathematical formulation then moves
through various complexities to the
consideration of FSI, and what happens
when FSl is restricted (as it is in most cities).
The FSI restriction tends to limit population
density in the central part of the city | and
so causes the city to spread out.

Studying the condition of the new resident
as the city grows, the model suggests that
if FSI restrictions in the inner city are
removed , this accommodates more people
closer to the centre and so their cnmmutuﬁ
times are reduced. This is claimed mwn
in a welfare gain for them. wtﬁ@h is
measured in terms of their ‘reduced
o the cﬁim iaﬂﬁgt lifting

dansifuc;atinn ‘Every increment in density
will result in still more saving for commuters.
As the model stands, there is no limit to the
saving possible, until commuting cost is
reduced to zero, We are obviously missing
something. There has fo be a gonstraining
parameter that would put a cap, sooner or
later, on how small the city can get while
being both efficient and attractive.

A*

'l "‘Fr-’

151.
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The author of the passage is 1o likely

to agree with which of the following ?

(A) The monocentric-City mode! from
the Worid Bank assumes
homogeneity of metropolitan cities
in India.

(B) The World Bank has vehemently
put across its emphasis on

removal of restrictions on FSi PN

(C) The

assumes a ho s .
among the ra% in the inner
Paﬂs of tha tw

€0 the mathematical
e World Bank, there is
stunpingly unlimited saving
ossibility, leading to zero
commuting cost

| @ It can be inferred from the passage

that

(A) The monocentric-city model of the
World Bank assumes that each
resident in Mumbai eamns the same
income.

(B) As per the monocentric-city model,
every individual working in the CBD
has a car to commute to the place of
work.

(C) The monocentric-city model dogs
not consider the residents going to
work by walking because it costs
no travel charges.

(D) The monocentric-city model of the
World Bank unfortunately ignores
the importance of public transport
for a Bangolorean.
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153. Which of the following is TRUE 155. Which of the following best reflects

according to the first paragraph of the the relationship among the distance
from CBD, rent on housing space and

the occupied housing area in Mumbali
(A) The World Bank has been and Bangalore ?

demanding nothing less than total (A) Distance from CBD and rentals on
repeal of FSI in Mumbai and housing are inversely related whi

passage ?

T

Bangalore.

(B) The World Bank has been flexible
in allowing for even a considerable

g —
@

(B)

relaxation based on a
mathematical model. 8

(C) The mathematical model on

which the World Bank's 4 - % (D) Allthe three increase
recommendations are basﬁﬁ > proportionate to an increase in
called ‘mono-centric-city model one of them.

(D) The World Bank has preferred to
demand forsemoval of restrictions Read the following passage and answer
o FSI only/in some areas of | the questions seton it:

.,

Mumbai and Bangalore. Pope Benedict's sudden resignation has
f':ufP'k stunned the world, and Pundits are

s searching for motivations beyond his plea

184, The attitude of the author of the of old age. To complicate matters, there is

passage towards the World Bank's | aiso a strange 900-year-old prophecy
demand and its basis can be best involved. 3
described as : : !
According to a famous prophecy made by
(A) Appreciative St. Malachy, a clairvoyant Bishop of the 12°°
L (B) Critical century, there would be 112 more Popes.

Pope Benedict, who resigned, was the
111th. And whoever is elected Pope in the
(D) Indifferent next few days will be the 112™. During the

(C) Sceptical
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papacy of this final Pope, says the
prophecy, Rome-and the Church-will be
wiped out ! To quote its ominous words :
“The City of Seven Hills shall be destroyed,
and the dreadful Judge shall judge the
people”.

Rubbish, one might say. We have heard a
lot of lunatic Doomsday predictions, and the
Mayan prophecy is still fresh in our minds.
But this time there is one small difference :
St. Malachy actually described each of the
111 Popes ill date with eerie accuracy,
summing up each one with a vivid Latin
phrase. And so far he’s never been wrong.

For example, he described Pope

Paul VI as ‘Flos Florum’, meaning ‘Flower _f

of Flowers'. Paul VI's coat of arms, as it
happened, featured three ris blessoms. His
successor, Pope John Paul ; was described
as 'De Medietaigikunae’, of ‘Of the half
moon'. This ﬁa;r_{.ﬁ uzzling, because the
description just @fﬂ%&ﬂm to fit. But one
month later, when_Jahn Paul | suddenly
died, one realized that he had become Pope
at the time of the half moon and died by the
next half moon. His successor, Pope John
Paul Il, was described as ‘De Labore Solis',
or ‘Of the eclipse of the sun': it turned out he
was born during a solar eclipse !

A*

People have been talking about the
prophecy of the Popes with increasing
frequency since the 1970s, as the end of
the line drew closer. In 2005, when John
Paul Il, the 110™ Pope, died, people looked
at the prophecy again, in anticipation, and
found the next Pope described as ‘Gloria

Olivae', or ; The Glory of the Olive'. Butwﬂ'~~

A @

did this mean 7 Some paﬂple M@N

signified Israel; others said mm new
Pope would be a Benew an order
symbolisegd:by th eﬁure enough, the

con avs{?‘d@nm elected Cardinal
Josﬂﬁmgr a Benedictine priest from

ﬁ%@tﬁ ‘who-to seemingly reinforce the
ecy-took the name Pope Benedict
x\n. after the founder of the order.

156. St. Malachy’s prediction regarding
Pope John Paul | was

(A) Proven and made apparent

posthumously

(B) Realized by the suddenness of his

death

-

(C) Considered perfect because of its

timing

(D) Ratified only by his becoming Pope

at the time of the half moon
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128

All the following reflect the author's
opinions as given in the passage,
EXCEPT

(A) St Malachy's predictions show a
high degree of accuracy

(B) The World is really shocked by
Pope Benedict XVI's
announcement of his resignation

(C) St Malachy's prophecy holds the
same promise as the Mayan
prophecy

(D) St. Malachy’'s prophecy has

compounded the already intriguing(h :
episode of Pope Benedict'sg W

resignafion and its impact g |

Winch of the fc}llcw
describes the W
IEJWEIrdS tha a@uragy af

'Hﬁtmn

{é) The author realizes gradually how

A*

accurate the predictions are

(C) The author rubbishes the
probability of these predictions

(D) The author is surprised at the rate
of accuracy of these predictions

JDD-39/TGT-ENG/X-14

158. According to the passage, how are

the realization of the prediction for
Pope Benedict XVI as ‘The Glory of
the Olive’, and the final selection of a
Benedictine priest as Pope related 7

(A) That Pope took the name,

Pope Benedict XVI
(B) Benedictine Orderid's ed
by the Olive
(C) ‘The ive’ signified
Israel
D) & connected by the
of P@pﬁ&ﬁm Paul ||

in 2005

W60, Chronologically, which one of the

following successions of Popes is
correct 7

(A) St Malachy —» Pope Paul IV -,

Pope John Paul | —»
Pope John Paul (I

(B) Pope Paul VI - Pope John Paul |
» Pope John Paul I - Pope
Benedict XVI

(C) Pope John Paul | — Pope John
Paul Il —» Joseph Ratzinger —
Pope Benedict XVI

(D) Pope Benedict XVI -
St. Malachy -, Pope Paul VI —
Pope John Paul |
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Pick the seritence that conforms to Standard 162. (A) | have known no culture which is

English usage : as much scornful as we of cultures

that have done better.

161. (A) Most are of the opinion that so il
(B) | have known no culture which is

long as handwriting is legibleand as scornful as we of cultures that

not a scrawl, one should not face have done well.
any ridicule from others regarding (C) 1 have known noother culture whieh
his or her handwriting. is as scomful as we are i Cultures
that have done bettef. %
(B) Most are of the opinion that as long 28 ¥V

(D) | have known no otfer cultures
_whichgls asﬁﬁ’fﬁ?ul as we are of
“Bultufés that have done well.

as handwriting is legible and not a
scrawl, one should not face any
ridicule from others regarding one’s o |
handwriting. 1&(&} Neither it is feasible nor desirable

! to keep India's foodgrain sector
(C) Most are of the opinion thatas

insulated from world markets.

long as handwriting is legible and .
(B) Itis neither feasible noris

not a ,_-s.crawl, an individual should desirable to keep India’s

“Qﬂ”?ﬁﬂ”‘! ridicule from others foodgrain sector insulating from
regarding one's handwriting. world markets.

1D) Many are of the opinion Wit as (C) It neither is feasible nor desirable

to keep India’s foodgrain sector
long as handwriting is legitimate

insulating from world markets®

and not a scrawl, one should not : » !
(D) Itis neither feasible nor desirable

face any ridicule from others to keep India’s foodgrain sector

regarding his or her handwriting. insulated from world markets.




164. (A) Human wildlife conflict is not new,

but the reports of these incidents
reflect that it is at its worst now.

(B) Human wildlife conflict is not new,
but the reports of these incidents
reflects that is at its worse now.

(C) Human wildlife conflicts are not
new, but the reports of these
incidents reflects that they are at
their worst now.

(D) Human wildlife conflict is not new,
but these reports of the incidents
reflect that they are at their worse
now.

165. (A) Theimpact of Tagore's ideas Y , @

Gandhi and Nehru has pefhaps
been given !ess artgnﬂnriﬂﬂn they
deserve. T B J

(B) The ampaerBfTWresadeas upon
@andhi m Nehru have perhaps

(C) The impact of Tagore’s ideas upon

: Gandhi and Nehru has perhaps
been given least attention than it
deserves.

(D) The impact of Tagore's ideas on
Gandhi and Nehru has perhaps
been given less attention than it
deserves.

JDD-39/TGT-ENG/X-14

Each of the following sentences is divided
into four segments. Find out which of these

segments is grammatically erroneous :

166. | still feel (A) / that the distribution
of our responsibilities (B) / is not
quiet (C) / as neat as it ma ar
at first (D)

167. We lived sﬁg st () /
y, (B) /| could

3, " With their comical faces (A) / and
stuffed toy looks (B) / lemur is (C) /
Madagascar's biggest tourist
draw (D)

168. Not only these odes (A) /convince
scholars of their antiquity (B) / but
they also received (C) / some fine
critical acclaim (D)

170. The recent charges (A) / levelled by
a former Vice Chancellor (B) /
against the highest authority of the
universities (C) / is shocking (D)

A* 42-

£ A
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Following are parts of a single sentence. Pick E 173. () Alllanguage teachers

the grammatically correct parts among these | (i) Agree in Principle

(i) That testing student's command
of spoken language

and choose the combination with the

numbers of these correct : ' ; i i
u th parts | (iv) Is important to judge their overall

language competence.

(A) (i), (i) and (iii)

171. () The Harassed Husbands of

Borivali, , o _
(B) (i), (i) and (v}

(i) One of the last suburb (C) (iii) and (iv)

(i) OnMumbai's Western Railway line, (D) (i) and (iv)

(iv) Used to meeting in the Sanjay f
Gandhi National Park. 174.. i) Fuen if phina's"'ﬁad’é data
(ii) “I§'showing ;igs of a recovery,

(A) (i), (it} and (i) i) (Biatesalfrade with India

(B) (i) and (iv) | {lv}Has remained at a slump.
(©) (i) and (i) {70, (i)and (V) (8 () and (i
(©) (i)and (i) (D) (i) and (i)

(D) (i) and (v)

\ 175. (i) My grandfather and me

172. () Marfied Subhash | (i) Were good friends
(ii) !noﬁ&uﬁ?:ﬁ:ear&. | (i) And we had becn constantly
'1 together
(iify Madhu thinks | (iv) For a long times.
(iv) They are made for one another. | (A) (i) and (iv) y
o
(A) only (i) (B) (i)and () o B
(C) only (ii)
(C) (i) and (ii) D) ()and (V)

(D) (i) and (iii)

A* a3
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|

178.

Match the poems with their poets :
i) Siegfried A) 1916 seen
Sassoon from 1821
i)  Wilfred B) Survivors
Owen
i) Edmund C) Anthem W
Blunden for Doomed |
Youth %
v) W.B.Yeats D)Municipal
"Gallery
(A) i}=C) ii)—A);iii) ~B) ; iv)- D)
FB) - B) 1) -C) i) —A) : iv) D)
(©) 10%8): i)~ C); i - D) iv) - A)
) )~C);ii)~B); i)~ D) ; iv) - A)
In Hardy'’s ‘Tess of the D'Urbervilles’,

Which of the following works of Walter
Scott is not a novel ?

(A) Ivanhoe

(B) Kenilworth

(C) The Bride of Lammermoor
(D) The lady of the lake

who is described as “a fly on a billiard-
table of infinite length" ?

(A) Tess

(B) Henchard

(C) Mrs. Yeobright

(D) Angel Clare

JDD-39/TGT-ENG/X-14

179. Charles Lamb wrote under the

180.

181.

pseudonym
(A) H.D.
(B) Elia :
(C) Samuel L. Cieme;ﬁ;

(D) Alpha of the m%

75 B 5,..1' -
Which ek the following is not

“Consid@red as a metaphysical poet ?

’a X George Herbert

(B) Henry Vaughan
(C) Robert Burns

(D) Richard Crashaw

One of these writers below is a
distinguished novelist. He has
contributed a lot to the sub-genre
called ‘campus novel, demystifying
and debunking university academics,
Who is the writer being referred to ?

(A) James Joyce
(B) David Lodge
(C) J. K. Rowiing

(D) P.G. Woodhouse



182.

183.

184.

The concept of ‘Affective Fallacy’, as
identified by the new critics, is
tendency to judge a work by

(A)
(B)
(C)

its effect on the reader
the intentions of its author
its realisation of the fictitious world

(D) its affectations as shown through
the characters

‘Astropel and Stella’ is a collection of
songs and sonnets by

(A)
(B)
(©)
(D)

Philip Sydney
Henry Howard
Edmund Spenser
John Milton

“There is sweet music here that
softer falls,

Than pelals from blown roses
on the grass,”

These lines appear in one of Tennyson's
poems. Who utter/s these words ?

(A) Tithonus
(B)
(C)

(D)

Ulysses
Telemachus

Companions of Ulysses

185.

186.

187.
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Which of the following can best reflect
the subject of Nathaniel Hawthorne's
“The Scarlet Letter’ 7

hereditary evil

the unconscious cruelty
sinful passion

human progress

Which of the following works'sought
to explain in terms ofsstructuralist
anthropology, the presence in diverse
cultures of theidea that women were
subordinate 16 men.

‘Having Faith’

‘Is Female to Male as Nature is to
Culture 7'

‘In Search of Our Mother's
Gardens'

(8)
(C)

(D) ‘Sexual Politics’

“Away ! away ! for | will fly to thee,

Not charioted by Bacehus and his Pards,
But on the viewless wings of

poesy..."

These lines appear in

(A) JohnKeats''Odetoa Nightingale'
(B) William Wordsworth’s To the
Skylark’

Thomas Campbell's ‘Ode to
Winter'

(D) P.B. Shelley's ‘To a Skylark

(©)
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188. Find the correct chronological orderof | 190. ‘Peniis mightier than the sword' is an

the following Shakespearean plays example of

(A) Macbeth —» Romeo and Juliet — (A) Oxymoron
The Comedy of Errors —» The (B) Synecdoche :
Tempest (C) Hyperbole

(B) The Comedy of Errors — The (D) Metonymy

Tempest —» Romeo and Juliet —»

Macbeth

(C) The Comedy of Errors —» Romeo

and Juliet —»Macbeth — The

Tempest =
Nt . % (A) an octave
(D) Romeo and Juhra} --tuTi‘le dy ©®) ‘alcouplet
of Ermrs’.:.-.sa.ﬁa_l’:gbﬁth —» The
e e (C) aquartrain
Tempest :
i Qs (D) asestet

182, Whesamong the following is/are the
192. Among T. S. Eliot's works, the
character of Tiresias appears in

A i 3
(A) Addison and Steele (A) ‘Gerontion’

writer/s of ‘The Female Spectator ?

(B) Jonathan Swift (B) ‘Murder in the Cathedral
(C) Charles Lamb and Mary Lamb (C) ‘The Love Song of Alfred Prufrock’
(D) Eliza Haywood (D) ‘The Wasteland’ 1

Ax 48
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193. “The nature found in his works is a 197. The play wright who has written the
violent, barbaric and blood-ridden

play ‘Ulysses' is
one.” Here ‘his works' refers to the

poems of (A) Stephen Philips

(A) Roy Fisher (B) G.B.Shaw

(B) Ted Hughes (C) Harold Pinter

(C) William Wordsworth (D) James Joyce '

(D) Geoffrey Hill

-

198. Fra Pandolf's name finds meﬂ@n 'fn

194. Charles Darwin’s ‘On the Origin of the Robert Browning's @\ °
Species' appeared in the year [A) ‘Rabbi Ben Em'a 2 e
(A) 1880 “The Bmhnpg?déﬁ'; His Tomb'
(8) 1611 {C} ‘My Lést Duchess'
(C) 1859 {D} P@‘Jas Song'
(D) 1832 d

3% ‘Hamartia’ means
195. Which of the following is not a work -4

by Dr. Samuel Johnson.? (A) error of judgement

(A) “An History of the Earth and ()0
Animated Nature' (C) reversal in fortune
(B) The' 'Mw of Human Wishes' (D) discovery of facts
(C) 'Hmelm'
(D) 'Lives’ 0f the English Poets’ 200. “The primary aim of literature is to
gstrange or defamiliarize” — These
196. Munoo is the central character in Mulk words sum up the essential
Raj Anand’s novel contention of 3
(A) ‘Kanthapura (A) Deconstruction
(B) ‘The Untouchable’ (B) Russian Formalism
(C) The Village' (C) Eco-Criticism
(D) ‘Coolie’ (D) Practical Criticism
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IMPORTANT INSTRUCTIONS TO CANDIDATES

serfreant o fore wesagot srEa

This booklet contains 48 pages.

Please check all the pages of the Booklet
carefully. In case of any defect, please ask
the Invigilator for replacement of the Booklet,

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A, B, C urDbyEIuer’Eiad:Ba}Pm
Pen against the question concerned in the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

Mark your answer by shading the appropriate

circle against each question. The circle shouid’|
be shaded completely without leaving any spa::a

The correct method of shading is given behw

E}GDD QEo00

The Candidate must mark hsﬁfh&r j

after careful consideration,

There is only one corfect answer to each
question. You should:b nel;an (@) the circle
of the aapropnﬂt&ﬁ;ﬂuﬂm viz..A,B,CorD.

yousblagken (@) more than one circle
iag@ any one queshan the answer will be
ayg wion

mark inthec

blacken the circle of revised response.

A machine will read the coded information
in the OMR Answer-Sheet. In case the
information is incomplete/different from the
information given in the application form, the
candidature of such candidate will be treated
as cancelled.

. Use the space for rough work given in the

Question Booklet only and not on the
Answer-Sheet.

. You are NOT required to mark your answers

in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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